Green Cove Springs Lift Station #316 Cherry Hill Rehab R2T 04/13/2023

Item		Rate	Hours		Total
Construction Project Manager		\$ 125.00	60.00	\$	7,500.00
Superintendent		\$ 80.50	104.00	\$	8,372.00
Foreman		\$ 70.20	132.00	\$	9,266.40
Equipment Operator		\$ 61.40	40.00	\$	2,456.00
Skilled Const Laborer		\$ 57.00	-	\$	-
Const Laborer		\$ 43.90	-	\$	-
Pipefitter		\$ 61.40	268.00	\$	16,455.20
Master Electrician		\$ 106.10	-	\$	-
Journeyman Electrician		\$ 84.30	-	\$	-
Master Mechanic		\$ 61.40	-	\$	-
I&C Technician		\$ 104.30	-	\$	-
I&C Programmer		\$ 126.10	-	\$	-
Billing Specialist/Admin		\$ 75.00	24.00	\$	1,800.00
	Total Labor			\$	45,849.60
	Labor OH&P		15%	\$	6,877.44
Subcontractor					
Subcontractor (3 Days welder)				\$	8,400.00
Subcontractor (Concrete Cutting Company)				\$	1,800.00
	Subcontractor total			\$	10,200.00
	Mark up (7.5%)		7.50%	\$	765.00
Materials					
Pipe, fittings, valves and flg accessories			\$38,746.00	\$	44,557.90
Pump Bases and rail accessories			\$8,984.00	\$	10,331.60
Misc. Materials (concrete & metals)				\$	4,025.00
	Materials Total			\$	58,914.50
Mate	rials Mark up(7.5%)		7.50%	\$	4,418.59
Equipment					
Forklift				\$	2,300.00
Compact Excavator				\$	3,200.00
	Equipment Total			\$	5,500.00
	mark up (5%)		5%	\$	275.00
Allowances					
Utility Location, forcemain identification				\$	5,000.00
and bypass plugs Allowance					
Pipe Supports Allowance				\$	2,500.00
				\$	-
	Allowances Total			\$	7,500.00
	Cherry Hill LS Total			\$.	140,300.13

Scope of Work:

Install discharge pipe with new pump basesand rails.
All pipe stainless steel 4" with welded fittings
New valves according GCSC standards
GCSC will provide bypass pumps and vac truck for cleaning

Green Cove Springs Lift Station #326 Winn Dixie R2T 04/13/2023

Item		Rate	Hours	Total
Construction Project Manager		\$ 125.00	32.00	\$ 4,000.00
Superintendent	:	\$ 80.50	104.00	\$ 8,372.00
Foreman	!	\$ 70.20	128.00	\$ 8,985.60
Equipment Operator		\$ 61.40	40.00	\$ 2,456.00
Skilled Const Laborer	:	\$ 57.00	-	\$ -
Const Laborer	;	\$ 43.90	-	\$ -
Pipefitter		\$ 61.40	268.00	\$ 16,455.20
Master Electrician		\$ 106.10	-	\$ -
Journeyman Electrician		\$ 84.30	-	\$ -
Master Mechanic	:	\$ 61.40	-	\$ -
I&C Technician		\$ 104.30	-	\$ -
I&C Programmer		\$ 126.10	_	\$ -
Lodging				
Billing Specialist/Admin	!	\$ 75.00	24.00	\$ 1,800.00
	Total Labor			\$ 42,068.80
	Labor OH&P		15%	\$ 6,310.32
Subcontractor				
Subcontractor (3 Days welder)				\$ 8,400.00
Subcontractor (Concrete Cutting Company)				\$ 1,800.00
9	Subcontractor Total			\$ 10,200.00
	Mark up (7.5)		7.50%	\$ 765.00
Materials				
Pipe, fittings, valves and flg accessories			\$ 26,616.01	\$ 30,608.41
Pump Bases and rail accessories			\$ 8,984.00	\$ 10,331.60
Misc. Materials (concrete & metals)				\$ 4,025.00
	Material Total			\$ 44,965.01
Mate	rials mark up(7.5%)		7.50%	\$ 3,372.38
Equipment				
Forklift				\$ 2,300.00
Compact Excavator				\$ 3,200.00
	Equipment Total			\$ 5,500.00
	Mark up (5%)		5%	\$ 275.00
Allowances				
Utility Location, forcemain identification				
and bypass plugs Allowance				\$ 5,000.00
Pipe Supports Allowance				\$ 2,500.00
	Allowances total			\$ 7,500.00
	Win Dixie LS TOTAL			\$ 120,956.51

Scope of Work:

Install discharge pipe with new pump bases and rails.

All pipe stainless steel 4" with welded fittings

New valves according GCSC standards

GCSC will provide bypass pumps and vac truck for cleaning

Green Cove Springs Lift Station #305 Vermont R2T 04/13/2023

Item			Rate	Hours		Total
Construction Project Manager	\$	5	125.00	60.00	\$	7,500.00
Superintendent	\$		80.50	104.00	\$	8,372.00
Foreman	\$	5	70.20	132.00	\$	9,266.40
Equipment Operator	\$	5	61.40	40.00	\$	2,456.00
Skilled Const Laborer	\$	5	57.00	-	\$	-
Const Laborer	\$	5	43.90	-	\$	-
Pipefitter	\$	5	61.40	272.00	\$	16,700.80
Master Electrician	\$	5	106.10	-	\$	-
Journeyman Electrician	\$	5	84.30	-	\$	-
Master Mechanic	\$	5	61.40	-	\$	-
I&C Technician	\$	5	104.30	-	\$	-
I&C Programmer	\$	5	126.10	-	\$	-
Lodging						
Billing Specialist/Admin	\$	5	75.00	24.00	\$	1,800.00
	Total Labor				\$	46,095.20
	Labor OH&P			15%	\$	6,914.28
Subcontractor						
Subcontractor (3 Days welder)					\$	8,400.00
Subcontractor (Concrete Cutting Company	/)				\$	1,800.00
Su	bcontractor Total				\$	10,200.00
	Mark up (7.5%)			7.50%	\$	765.00
Materials						
Pipe, fittings, valves and flg accessories			(18,776.90	\$	20,279.05
Pump Bases and rail accessories			9	8,984.00	\$	9,702.72
Misc. Materials (concrete & metals)					\$	3,500.00
	Material Total				\$	33,481.77
	Mark up (7.5%)			7.50%	\$	2,511.13
Equipment						
Forklift					\$	2,300.00
Compact Excavator					\$	3,200.00
	Equipment Total				\$	5,500.00
	Mark up (5%)			5%	\$	275.00
Allowances						
Utility Location, forcemain identification						
and bypass plugs Allowance					\$	5,000.00
Pipe Supports Allowance					\$	2,500.00
	Allowances total				\$	7,500.00
	ermont LS TOTAL				Ś	113,242.38
					7_	

Scope of Work:

Install discharge pipe with new pump bases and rails.
All pipe stainless steel 4" with welded fittings
New valves according GCSC standards
GCSC will provide bypass pumps and vac truck for cleaning

Green Cove Springs Lift Station #315 Colonial R2T 04/13/2023

Item		Rate	Hours		Total
Construction Project Manager		\$ 125.00	32.00	\$	4,000.00
Superintendent		\$ 80.50	60.00	\$	4,830.00
Foreman		\$ 70.20	72.00	\$	5,054.40
Equipment Operator		\$ 61.40	32.00	\$	1,964.80
Skilled Const Laborer		\$ 57.00		\$	-
Const Laborer		\$ 43.90	-	\$	-
Pipefitter		\$ 61.40	220.00	\$	13,508.00
Master Electrician		\$ 106.10	-	\$	-
Journeyman Electrician		\$ 84.30	-	\$	=
Master Mechanic		\$ 61.40	-	\$	=
I&C Technician		\$ 104.30	-	\$	=
I&C Programmer		\$ 126.10	-	\$	=
Billing Specialist/Admin		\$ 75.00	24.00	\$	1,800.00
	Total Labor			\$	31,157.20
	Labor OH&P		15%	\$	4,673.58
Subcontractor					
Subcontractor (2 Days welder)				\$	5,600.00
Subcontractor (Concrete Cutting Company)				\$	1,800.00
	Subcontractor total			\$	7,400.00
	Mark up (7.5%)		7.50%	\$	555.00
Materials					
Pipe, fittings, valves and flg accessories			\$ 7,152.00	\$	7,724.16
Pump Bases and rail accessories			\$ 8,984.00	\$	9,702.72
Misc. Materials (concrete & metals)				\$	2,500.00
	Material Total			\$	19,926.88
	Mark up (7.5%)		7.50%	\$	1,494.52
Equipment					
Forklift				\$	2,300.00
	Equipment Total			\$	2,300.00
	Mark up(5%)		5%	\$	115.00
Allowance					
Pipe Supports Allowance				\$	2,500.00
Utility Location, forcemain identification					
and bypass plugs Allowance				\$	5,000.00
	Allowance Total			\$	7,500.00
				·	•
	Colonial LS TOTAL			\$	75,122.18

Scope of Work:

Install discharge pipe with new pump bases and rails.
All pipe stainless steel 4" with welded fittings
New valves according GCSC standards
GCC will provide bypass pumps and vac truck for cleaning